B8 1.9

/\) y
¢ L E=2& cswt

C
- 1RaLd
8 1R*Ld—‘; 4’%

4% dg
-— 4 Yoo ® = 8 R
at? gd“: ted § T /é' -, wozr,}c

Q): QOQ‘SCW\:-&S)

(-coz 4 (é\’\oo -mf) G&,er\\cwkk‘) = % Qlwt
@Oblwoz ’rﬁ&uo )& © %e'\IS

@62 ”(4)2) @éﬁi‘ - CO§§

~b0o @l — siad

€o
- 5w
{cw\g = Z)E;::Oz
5 w2\ 2 L2 26 ’
& (W=« () + () ?ZL) = 4
Q - EOA‘:—— . _ Qe“&d’hﬁ)
o @9—_&2)1 ‘*@'{%\)2 I Q,
v, -2
Vo %
Ne _ 5 - 2(000’*%’)(—3@) +up’



2

T Wy~ 84
)

A

b) - 8% - +k‘\wQ

=T
a1

e

L G A
- a\t/ duw Aw

2 4@ _

2w afin A -ws)(2u) + B
(0?0 (Buy’ Fu( ;O C@a‘woﬁ 4 @@?DGA

M" 02 -Q}sz'woz)Jr_B_?g{ —
S T (@) ()

S 2 (w'l-woq_) Y ‘S'l wfi /Q
@')_wdq")l } @Q:)Q'
SR | 2 7 "
M—wi’wﬂ‘ _@;o\\ s yf/-r% LW+ fuw
4
Wawg? = wy 4 {.’.QCOQ/:

o~ #) - e’

=4




